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QUESTION 1

MC-LAG provides link and node protection from an MDU to 3 or more PE devices. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

What must be enabled in order to prevent a loop within a LAG? 

A. RSTP 

B. Dynamic-cost 

C. LACP active 

D. Nothing, There are no loops in LAGs 

Correct Answer: C 

 

QUESTION 3

How is it possible for multiple services to be carried over the same MPLS LSPs? 

A. Multiple SDPs must be configured and bound to the LSPs for this to be possible. 

B. It is not possible to carry multiple services over the same MPLS LSPs. 

C. A vc-label is signaled per service. 

D. The vc-id is part of the data plane and maps the traffic to the appropriate service. 

Correct Answer: A 

 

QUESTION 4

What is the MTU impact on the SDP path-mtu if fast reroute facilities-mode is implemented on the LSP? 

A. There will be no impact on the path-mtu. 

B. The path-mtu will decrease by4 bytes. 

C. The path-mtu will increase by 4 bytes. 

D. The path-mtu will decrease by 8 bytes. 
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E. The path-mtu will increase by 8 bytes. 

Correct Answer: B 

 

QUESTION 5

In Active/Standby pseudowires a failed pseudowire has recovered. Under what circumstances will the active pseudowire
revert to the previously failed link? 

A. It will always revert to the previously failed link. 

B. It will never revert to the previously failed link. 

C. It will revert if the precedence of the previously failed link is set to 0 or "primary". 

D. It will revert if the precedence of the previously failed link is lower than the currently active link 

Correct Answer: C 
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